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QUESTION 1
Refer to the exhibit:
FILTERS Cloar @
Response (1)

“Matched 5

~  Device (2)
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description

directory (3)

gid (3)

+ +  +

gid_signed (3)

-+

shell (1)

- type(2)

L

earch

local

+  uid (3)

+  uid_signed (3)
+ username (3)
o+

uuid (3)

Which two logic statements correctly explain filtering within the UI? (Choose two.)

A. Filtering between fields is a logical OR
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B. Filtering within the same field is a logical AND C. Filtering between fields is a logical AND
D. Filtering between fields is a logical XOR
E. Filtering within the same field is a logical OR

Correct Answer: AD

QUESTION 2

An analyst wants to block an application\\'s specific behavior but does not want to kill the process entirely as it is heavily
used on workstations. The analyst needs to use a Blocking and Isolation Action to ensure that the process is kept alive
while blocking further unwanted activity.

Which Blocking and Isolation Action should the analyst use to accomplish this goal?

A. Log Operation

B. Deny Operation

C. Terminate Process

D. Block Process

Correct Answer: B

QUESTION 3

An Enterprise EDR administrator sees the process in the graphic on the Investigate page but does not see an alert for
this process:
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How can the administrator generate an alert for future hits against this watchlist?

A. select the watchlist on the watchlists page, select the Scheduled Task Created report, and use Take Action to select
Alert on hit for the report.

B. Select the watchlist on the watchlists page, select the Scheduled Task Created report, and use Take Action to toggle
Alert on hit to On.

C. Select the watchlist on the watchlists page and click on Alerts: Off to toggle the alerts to On.
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D. Select the watchlist on the watchlists page, use Take Action to select Edit, and select Alert on hit.

Correct Answer: D

QUESTION 4

How can an analyst disregard alerts on multiple devices with the least amount of administrative effort?

A. Select the "Dismiss on all devices" option.

B. Make a note in the Notes/Tags option.

C. Search by hash and dismiss.

D. Turn off the Group Alerts option.

Correct Answer: D

Reference: https://www.google.com/url?
sa=tandrct=jandg=andesrc=sandsource=webandcd=andcad=rjaanduact=8andved=2ahUKEwjv6pryl4XvAhW
agVwWKHTCMDTEQFjAAegQIARADandurl=https%3A%2F%2Fcommunity.carbonblack.com%2Ft5% 2FKnowled ge-

Base%?2FCarbon-Black-Cloud-How-to-Dismiss-Alerts%2Fta-p%
2F51766andusg=A0OvVaw2x1mST1tWpuASUMLmMFhyul (80)

QUESTION 5

Given the following query:

SELECT * FROM users WHERE UID >= 500;

Which statement is correct?

A. This query limits the number of columns to display in the results.
B. This query filters results sent to the cloud.

C. This query is missing a parameter for validity.

D. This query returns all accounts found on systems.

Correct Answer: A
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